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Unit 1 : Whole Numbers

Ten ‘T’housands, Hundred Thousands and Millions

- There are 5 382 746 people Iavmg in Country X The place
Value of each dlglt n 5 382 746 is as 'Follows [REE

) % -
IO

/5,000,000 300,000 80,000 2000 700

In 5,382,746

»5 is in the millions place,

+ 3 is in the hundred thousands place,
> 8 is in the ten thousands place,

2 is in the thousands place,

> 7 isin the hundreds place,

» 4 is in the tens place,

= 6 is in the ones place.

We write 5,382,746 in words as five million, three hundred
eighty-two thousand, seven hundred forty-six.

5,382,746 is the standard form.

5,000,000 + 300,000 + 80,000 + 2000 + 700 + 40 + 6 is the
expanded form of 5,382,746.
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Approximation ’ R

When we round up or round down values, these rounded -
values are only cnpproxumatmns We use the symbol = to
show approx:mqtlon ' medns ‘is apprOXImqtely to’.

To round a number to a certain place value we Iook cst the dsglt
in the next lower place value.

If the digit is O 1,2, 3 or4 we round down lf it |s 5 6 7 8 or 9
we round up. B

Round 15,381,479 to the nearest

(a) ten, (b) hundred, (c) thousand,
(d) tenthousand, (e) hundredthousand, (f) million.

(a) 15,381,479 = 15,381,480

(b) 15,381,479 = 15,381,500

(c) 15,381,479 =15,381,000

(d) 15,381,479 = 15,380,000

(e) 15,381,479 = 15,400,000

15,381,479 = 15,000,000
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Factors

Factor x Factor = Product

20 is the product
of 4 and 5. "

The number 20 has
6 factors.
1,2,4,5, 10 and 20.

4x5=20
4 and 5 are factors of 20.

1 x20=20
2x10=20

1, 2, 10 and 20 are also factors of 20.
Some numbers have exactly 2 factors.

A number greater than 1is called a prime number if it has
exactly two factors, 1 and the number itself. o

1><3:3, 1x5=5,1x7=7, ..
3,5, 7, ... are prime numbers.

A number greater than 1is a composute number
if it has more than two factors |

The number 1is not
a prime number or a
composite number.

Tx4=42x2=4
The factors of 4 are 1, 2 and 4.
Therefore, 4 is a composite number.
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Multiples

The table shows the first ten multiples of 2, 3,4, 5, 6, 7,8, 9

and 10.
2 4 6 g | 10 | 12 | 14 | 16 | 18 | 20
3 6 9 | 12 | 15 | 18 | 21 || 27 | 30
4 8 12 | 16 | 20 |Qa)| 28 | 32 | 36 | 40
5 | 10 | 15 | 20 | 25 | 30 | 35 | 40 | 45 | 50
6 1 12 | 18 | 24 | 30 | 36 | 42 |48 ] 54 | 60
7 114 | 21 | 28 | 35 | 42 | 49 | 56 | 63 | 70
8 16 | 24 | 32 | 40 |[4®)| 56 | 64 | 72 | 80
9 | 18 | 27 | 36 | 45 | 54 | 63 | 72 | 81 | 90
0 1 20 | 30 | 40 [ s0 | 60 | 70 | 80 | 90 | 100

8 is a multiple of 2.

2 is a factor of 8. 8 is a multiple of 4.
4 is a factor of 8.

From the table, we can see common multiples.

For example, 24 is a common multiple of 6 and 8.

48 is also a common multiple of 6 and 8.

So, there is more than one common multiple of 6 and 8.

6 and 8 are factors of 24 and 48.
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Order of Operations-

An expression has numbers and operation sugns (+ — % —)
but no equal sign. G

An equation is a number sentence with an equal s:gn

The value on each side of the equal sign is the same.

When an expression involves different operatlon szgns cmd
parentheses, we proceed as follows: | L
e Do what is in the parentheses first.
®»  Next, carry out multiplication or lelsaon ‘from Ieft

to right.
*  Then carry out addition or subtraction from Ieft
to right.
i . 4 , 7
1. Findthevalueof18+32+4 -5, | 18+32+4-5
8
18+32+4-5=18+8-5 =18+8-5
26
=26-5 —o6_t
=21 =21

2. Findthe value of 32 + (16 —2) x (4 + 2).

32+(16-2)x (4+2)=32+14x2
( ) x(4+2)
28
=32+28
=60
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Negative Numbers

A number Wlth a negat[ve s&gn m front of |t is known as 0
negatwe number a5t L

. The negqtlve s;gn is also used qs a symboi for subtractlon

On the number Ime the posntnve numbers qre to the nght of zero
3 The negat:ve numbers are to the Ieft of zero |

On the number line, *—3’ is on the left of ‘=2’ and ‘=71’ is on the
right of ‘=2’. We note that —3 < -2, '
—2 <1,

—2 > -3 and

—1>-2.

1 b F ] | ]
I

3 2 -1 0 1 2 3

)
L

Examples of use of negative numbers in our daily life include
the following: 0100 °C

1. Temperatures below 0 °C

2. Depths below sea level

0°C
-10°C
-20°C

* Primary Mathematics {Siundﬂ_r_#Editién)'.Extftj‘Prucﬁcé g




Name: Class: Date:

Exercise 1: Ten Thousands, Hundred
Thousands and Millions

1. Write the following in standard form.
(a) 27 thousands 5 ones
(b) 250 thousands 6 hundreds
(c) 90,000+ 3000+9
(d) 500,000+ 50,000 +40+6

2. Write the following in expanded form.

(a) forty-seven thousand, five hundred

(b) five hundred sixteen thousand, two hundred forty

(c) six hundred two thousand, eighty-three

(d) ninety-three thousand, five

(e) two million, one hundred thirty thousand

eight million, fifteen thousand

hgapore) Private Limited 1
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3. Write the following in words.
(a) 40,516

(b) 10,020

(c) 213,400

(d) 502,001

(e) 300,208

(f) 5,006,000

(g) 348,715,908

4. Fillin the blanks.
(a) In 32,105, the digit 1 stands for

(b) In 43,027, the digit 3 is in the

its value is

() In 123,456, the digit 2 is in the

place,

place,

its value is

Praﬁqu_Mui'h_emuI:it_s. {StundurdsEden]Ex!ruPru:hcefl e
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(d) In 240,170, the digit 2 stands for

(e) In 5,300,000, the value of 5 is

(f) In 21,643,708, the hundreds digit is

and the ten millions digit is

Fill in the blanks.
(a) 30,000+5000+200+6=

(b) 428,000+ 7 =

(c) 81,690=81,000+ +90

(d) 573,012 =500,000 + + 3000+ 10 + 2

Fill in the blanks.

(a) is 1000 less than 50,326,

(b) There are hundreds in 60,000.
(c) is 1000 less than 172,000.

(d) is 10,000 more than 1,341,979.

Complete the following regular number patterns.
(a) 25,702, 25,732, 25,762,

3

(b) 40,036, , , 40,336, 40,436

©) 69,271, , 71271, 72,271,

(d) 55,810, 60,810,
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8. Arrange the numbers-in increasing order.
(a) 16,538, 46,385, 336,058, 130,568

(b) 140,105, 104,002, 23,806,441, 1,165,305

9. Fill in the boxes.

(a) 26,540,189 = ten millions + millions
+ hundred thousands
+ ten thousands
+ thousands

+ hundred

+ tens
+ ones
(b) 253,704,986 = ones + hundreds

+ millions
+ hundred millions
+ thousands
+ ten thousands
+ tens
+ ten millions
+ hundred thousqn.ds

. ® 2008 Marshall Cavendish Intemational (Singapore) Private Lirits
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Name: Class: Date;

Exercise 2 : Approximation

1. Round each number to the nearest ten.

(a) 566 (b) 1285

(©) 12,403 (d) 107,412

2. Round each number to the nearest hundred.

(a) 4853 (b) 11,864

(c) 318,009 (d) 1,564,050

3. Round each number to the nearest thousand.

(@) 21,647 (b) 107,014

(c) 741,806 (d) 23,785,491

4. Round each number to the nearest ten thousand.

(a) 17,496 (b) 289,099

(c) 1,452,647 (d) 106,472,854

5. Round each number to the nearest hundred thousand.

(a) 146522 (b) 7,210,547

(©) 19545371 (d) 124,751,802




6. Round each number to the nearest million.

(a) 2,950,000

(b) 17,814,090

(©) 389,546,713

(d) 539,014,000

7. The price of a house is $1,760,800.
Round the price to the nearest hundred thousand.

8. A fast food restaurant sold 28,726,481 burgers in a year.
Round the figure to the nearest million.




Name:

Class: Date:

Exercise 3 : Factors

1.

Fill in the missing factors.

(a) 42=6x (b) 9x =72

() 90=5 x (d) 100= x 4

Find the factors of each number.

(a) 18 (b) 81
The factors of 18 are The factors of 81 are
(c) 56 (d) 98

The factors o_f 56 are The factors of 98 are




3. Answer the questions using the numbers below.

®®® @ ® @

Which of the above numbers have each of the following as
factors?

(a) 2
(b) 3
(c) 5

(d) Which of the above numbers are prime numbers?

(e) Which of the above numbers are composite numbers?

4. Write a number in each to make the number sentence true.
(@) 12x2=2% X 3 (b) 12x4= x8x2
() 6x14=7x% (d) 35x36=35% x 4

5. Answer these questions. Show all your work clearly.

(a) s 6 a common factor of 84 and 90?

(b) What are the common factors of 12 and 18¢

primary Mathemalics (Standords Edition) Exra Procticer 4~~~ . ©2008 Narshal Caveridsh nternatonsl (Singapore) Private i




Name:

Class: Date:

Exercise 4 : Multiples

as
' (a) 3

The first four
multiples of 3 are

(© 7

| The first four
P ;5 multiples of 7 are

(o) 6and?9

(b) 3,4and6

1. List the first four multiples of each number.

() 5

(d)

The first four
multiples of 5 are

The first four
multiples of 9 are

2. Find the first two common multiples of each set of numbers.




3. Use the numbers below to answer the questions.

15 32 60 38 72

(a) Which of the numbers are multiples of 42

(b) Which of the numbers are common multiples of
6 and 8¢

4. (a) Whatis the fifth multiple of 12?2

(b) What is the eighth multiple of 152

5. Complete the regular number patterns.

(a) 15, 30, 45, , , 90

(b) 9,18,

PrirﬁutY.M'mhéin'uﬁcé'(Slﬁﬁ'du'rﬂé-f'diﬁon} Exfra Proclice 4 = . @208 Marshell Cavendish Inteimational (Singapors) Privats Limited’
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Name: Class: Date:

Exercise 5 : Order of Operations

1. Find the value of the following.

(@ 20-8+6 (b) 121+2 — 65 -
(c) 3x4—6 (d) 7x8=+4
(€) 80 —30+5x9 () 115+8x6=6

(g) 218+ (36 —12) +2 (h) 108 — (99 +9) x 4

003_.'”'?’3.“"“_" Catericif Intematiorist (Singapore) Priats mited T :Prtﬁu_ry'.MuIﬁe'ﬁwt'ic (S_iundﬂrﬁ Edﬁi.ﬁri')'Exird Practice



2. Do these. Show all your work clearly.

(a) There are 25 apples and 15 pears in one box.
There are 4 such boxes of fruits.
How many more apples than pears are there in all?

(b) George bought 2 hamburgers and 3 cheeseburgers.
Each hamburger cost $1.60. Each cheeseburger cost
$1.35. Find the total amount George had to pay.

* Primary Mathematics {Standards Edition) Extra Procice 4~ . . . " © 2008 Marshall Gavendish inlerntional (Singapore) Privats Lirmiled




all?

jers.
cost

Name:

Class: Date:

Exercise 6 : Negative Numbers

Use the number line to answer the questions.

H 3 ! ] | | ! | ] 1

A

: T 1 f 1 T T >

6 5 -4 -3 -2 -1 0 1 2 3 4 5 &

(a) Write the negative numbers shown above.

(b) Which of the above negative numbers is the greatest?

Write € or > in each O

(@ 15( )15 ) —18()-9
© 20( )50 (@) —300( )—120
(&) 35+60( )—60 M —89( )100—89

Arrange the following numbers in decreasing order.

28, —91, 100, —60, —19




4. Fill in the blanks. -

(a) A fall of 20 °Cis written as

(b) A withdrawal of $1500 is written as

(c) 20 metres below sea level is written as

5. Fill in the blanks.

(a) What number is 10 more than —30?

(b) What number is 20 less than —55?

(<) What number is 30 less than —82¢

(d) What number is 100 less than —215?

ST & 2008 Marshall Gaveridish ErRatiaRal (Stigapore) Privats Uirited
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Unit 2 : The Four Operations
of Whole Numbers

Addition and Subtraction

- When we add two or more numbers, we get their sum.
| When we subtract two or more numbers we ﬁnd the:r
| 'daﬂerence ' =
: We can drqw models to help us wath addlt:on and subtraction

Joni has 1228 seashells.
Her sister has 346 fewer seashells than Joni.

(a) How many seashells does Joni’s sister have?
(b) How many seashells do they have altogether?

346

A
=3

12%8
(a) 1228 — 346 =882
Joni’s sister has 882 seashells.

(b) 1228 + 882 =2110
They have 2110 seashells altogether.

. 02008 Marshall Cavencis nfatonal (Singapore) Private Liited " - priviary Mthomatics {Standards Ediion) Bxtra Proclice 4




Multiplication and Division

‘When we multiply two or more numbers, we find their product.
When a number is lelded by another number exactly the L

answer is the quotlent SR
When a number is not exactly divided by c:nother number the
“answer is the quotient and the remamdef e

We can multiply a 3- dlglt number by a 2-digit number as follows:

1. Find the product of 297 and 28.

Method 1:
297
X 29 297 X9 =2673
2673 297 x 20=5940
5940 297 x 29 =2673+ 5940
8613 =8613
Method 2:

297 x 29=297 x 30 — 297
297 x 30 =8910

8910 — 297 = 8613

297 x 29 =8613

We can divide a 4-digit number by another number as follows:

2. Find the value of 3468 + 6.
5 7 8§ «————— quotient

6)3468
3 O 5x6
4
4 2

_Pr_imnry"Mnﬂiéhmﬁcs (Standards Edition). Extra Practice 4 -
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Class: Date:

Exercise 1: Addition and Subtraction

1. Find the sum of the following numbers.

rthe (a) 909+ 1826 (b) 2647 + 13,121

(c) 812,346 + 2,214,718 (d) 20,146,119 + 2004

2. Find the difference between the numbers.

(a) 98,147 — 45,725 (b) 16,032,518 — 8,147,622

(c) 23,114,278 - 1364 (d) 123,146,283 — 20,102,460

3. Fill in the blanks.
(@) What number must be added to 950 to get 15002

(b) What number must be subtracted from 2568 to
get 10052

2008 Marshail Cavendish internalionial (Singapore Privats Limited | =+~
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4. Do these. Show all your work clearly.

(a) Liza has 106 dolls. Jean has 29 fewer dolls than Liza.
How many dolls do they have altogether?

(b) There were 8645 people at an airport.
There were 3728 men and 2144 women.
The rest were children.
How many more children were there than women?

I"ri'rn'ur"y'Muih'e'm'uﬁt.'s:(Sfaﬁd_ufd's Edition] Edra Pracice 4~ . - r . ©2008 Maishall Cavendish Infernational (Singapcrs) Privats Limitéd




Class: Date:

Exercise 2 : Multiplication and Division

Multiply.

(a) 67 x8= (b) 705x6=
(c) 6879x8= (d) 5068 x 4 =
Divide.

(@) 392+7= (b) 7248 +8=
(c) 4428 6= (d) 5067 +9=




3. Do these. Show all your work clearly.

(a) 8912 adults visited a book fair.
There were thrice as many children as adults.
How many children were there?

(b) Janson has 966 stamps.
He gives them equally to 6 friends.
How many stamps does each friend get?

R ©2008 Marshail Cavendist 'Imer_nétio.n'a'! (S_iﬁg_ép'o_ré)'P'ﬁ\)aie"i;ifn'iié
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Name: Class: Date:

Exercise 3 : Multiplication by
a 2-digit Number

1. Find the product of each pair of numbers.

(a) 72and 70 (b) 568 and 90
(c) 69and 28 (d) 800 and 50
(e) 98 and 637 (f) 509 and 46

2. Estimate and then multiply.
(a) 68 x27 (b) 946 x 42

annry Muthemuilcs Sﬁn&u’rdﬁ fﬁilio::i]":Eﬁtru- Frdt_m 4



3. Do these. Show all your work clearly.

(a) A guava weighs 385 g. It is 10 times as light as a
watermelon. What is the total weight of the two fruits?

(b) There are 36 boys and 43 girls in a reading club.
If each boy reads 8 books and each girl reads 12 books,
how many books will they read altogether?

Staidards Edtion] Exra Praciced . @208 Marshan Cavendish ntemational (Singenore) Prvte Limied
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Unit 3 : Fractions

o fruits?

Equivalent Fractions

_2_ oA 6_'- | 8.

| We ccm see thqt the size of each c1rc!e is the same

We nottce that half of each c1rc|e is shaded
_2.3_4

476 8 : -
‘and ‘8" are cal [ed equwalent fractmns

1
So, 5 -
1

2

1.

5 is a fractlon m lts sgmp!est form

All the other fractions are = when reduced to thelr

2
snmplest forms

Name two equivalent fractions of % TR

We can divide or multiply the numerator
and the denominator by the same number
to get equivalent fractions.

cich Intehatianal 'Prir:r:iu:ry._Mtﬁ!iem_ntic.s_ (S'Iu_tld&td.s'E'_d_i'fi'én).E




Addﬁng and Subtracting Fractions

We can only add or subtract fractrons when the:r
denominators are the same T IR

1. Add.
1 1 3,2
(@ $+3 b 2+5*%
2,1_3 1,3,2_2,3,2
T8~ 3 ztgtg~ s s T3
_7
8
We change ']T to % so that the denominators
are the same and we can add the numerators.
2. Subtract.
5 1 5 2
@ 5-% ®) 1-5-33
5 2_3 1_5_2m12_5m2
6 6 6 12 12 12 12 12
_ 1 - 5
) 12

12
We change one whole to 45
before we subtract.

Write your answer in
its simplest form.

" @ 2008 Marshall Cavendishi Intérnational (Sigaporc) Private Limited: .
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Mixed Numbers

- We get a mixed number when we add a whole number

1. Write a mixed number.

(a)

(b) 6 wholes 5 sevenths = 6%

2. Find the value of the following.

(@) 7+ 2 () 9 -

3 _
7+I_7

(o]
]
W= Ww|=
I
0]
| L
|

3
4

182008 Marshall Cavendish Intemationial (Singdpare) Private Umited " “ """ .. =0 primory Mathemafics.(Standards Edition) Extra Pradice 4




!mproper Fractions-

| !n an lmproper fmctaon the numerutor is’ greater thcm or equal
'-to its denommator | S : SR

| improper fractlons are equal toor greater thcm ’E

“We can express an lmproper fractlon asa who]e number or a
“mixed number. -- o

1. Circle the improper fractions.

1 2z 2
2’ " 4’ ' 8/

2. Change the improper fraction %to a mixed number.

© 2008 Marshall Cavendish Inteenational (Singapere) Private Limited
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Fractions and Division

Share 5 pizzas equally among 4 children.

Mike Justin

Justin/

Method 1
S 4= 5 The remaining whole is divided into 4
T4 parts. Each child gets % of this pizza.
— % + % Altogether, each child gets ?-;r— pizzas.
_ 1
=g
Method 2

L4 =11
574—-14




Fraction of a Set

1. Thisis a set of fruits.
What fraction of the set of fruits are mangoes?

R AQ OO0 ® 2y
QAR OO ®
4 mangoes 4 oranges 4 apples 4 pears

There are 16 fruits in the set. 4 of the fruits are mangoes.

4 - 1 L4
16 T4 Write g in its

simplest form.

of the fruits are mangoes.

b=

0000
®®®®® | 4 equal
OO000 || rr
60000

2. (a) How many apples does each child get?
There are 20 apples. There are 5 children.

1 _ 1 _ 20
—5—of20—§><20—-—5--

=4 (Whot is —%— of 20?}

Each child gets 4 apples. <

U= s ] = b1

-

(b) What is%of 20?
2 _ 2 — 40
=8

Two children get 8 apples altogether.

Primary Mathomotics (Stondards Elon) v Procica 4~
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Date:

Exercise 1: Equivalent Fractions

Find the missing numerators.

(@

]!

© 2

(&) &

(@) 1=

() 2=

(e) 2%

I

8
Ll

18

3

9

4

2. Find the missing denominators.

6

(@ <

b) 2

o

(b)

(d)

()

(b)

(d)

()

3. Complete these equivalent fractions.

01N
i Il

oo|w

W~

w(ro

10 _

25

20 _
28

24

S 7 i % o

ST

L
S




4, Express each of the following fractions in its simplest form.

(@) 5= b) ==
(@) == (d) ==

5. Arrange the fractions in increasing order.

10 4 7
(@ 55 570
® 2 55

6. Arrange the fractions in decreasing order.

7 Do these. Show all your work clearly.
(o) Cameron drank -2— { of water. Dani drank 515— { of water.

Who drank more?

(b) A pumpkin Welghs 4 kg. A melon weighs =5 9_ kg.

A papayd Wenghs 13 kg. Whichis the heawest?

Which is the hghtest?

@ 2008 Marshall Cavendish Interfiationai (Singapore) Private Lirited
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Nome: Class: Date:

lest form. Exercise 2 : Adding and Subtracting Fractions

1. Add. Write the answers in the simplest form.

(@) +4 b) 2+3 © 5+

&) &5+ (& £+2 Q

N —
(N Y

2. Write the missing numbers.
1
(@) 2+

+ W=

1
6

Gapore) Privaits Limited



(b) >+

n
]

0o|—

00| =

>

A

U\
\

Dy
&

A

Add. Write the answers in the simplest form.

1 1
(@ z+77

(C) _2_+§_ _.1..

8 8

1
4

8

I

+
oo
]

2 .1
®) 5*%

@)%+%+%:

Add. Write the answers in the silgfi:xplest form.

1 3
@ 5++5

2 a1
NE © 5+




5. Subtract.
(a) (b)

SN[
[l
w

B[
Co

6. Write the missing numbers.

@ 21




7 Subtract. Write the answers in the simplest form.

@ F-7 b) £-% @ 1-%
@34 | ©F K | OuE

8. Subtract. Write the answers in_the simplest form.

(@ 2-2 ®3-32 | © %3
= = %
@ E-3 © L-3 ® 1~

9. Subtract. Write the answers in the simplest forrp,./

311 ey 13 -1
(@ 773 &) +=5 5
5_2_3_ 8_4_1_
(@ >-%-3 d 53573
7 3 _ 2 _ _2 _ 4 -
© =590 "0~ ® 1=~z




10. Do these. Show all your work clearly.

,4 (a) Mary walked —i’e of the journey to the library.

7 What fraction of the journey did she still have to walk?

) \

' (b) A piece of cloth is % ft long. |

Another piece of cloth is —A:If ft long.
\' 1 What is the total length of the 2 piece§ of cloth?

o |
2
10

. () Andrew-and John shared a pizza.
' Andrew ate —- of the pizza and John ate %— of it. ‘

Who ate more? How much more did he eqt?

©:2008: Marsfiali c:avéndish'mtérﬁ'atmna_{ (Sirigapate] Frivate Limited:
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(d) Annate —} of a cake.
Dylan ate «17 of the cake more than Ann.
What fraction of the cake did they eat altogether?

(e) Susan had 1kg of sugar.
After she had used 25,_ kg, Janice gave her another -115 kg
of sugar. How much sugar did Susan have after that?




Private Liritad -

Name: Clgss: Date:

Exercise 3 : Mixed Numbers

1. Write a mixed number for each of the following.

(a) 2 wholes 1half=

(b) 3 wholes 2 thirds =

(c) 2 wholes 3 quarters =

(d) 7 wholes 5 eighths =

2. Find the value of each of the following.

(@) 2+%= (b) 2+3=
© 2-3=— (@ 5-2=

7

/
3. Add or subtract. Give each answer in its simplest form.

7 5. 5.7
(@ s5+55= ) 2y tg=
() +63= (d) 5-5= -

N
o)
L
N
|
u-z|w
1
N
~—
L —
~Jd
|
~|o
[l




4. Do these. Show all your work clearly.
(a) A string 28 yd long is cut into 10 egual pieces. What is

the length of each piece?

(b) Atableis 1% m Iong/\f?'\lf"hat is the total length of

3 such tables? "




Name: Class: Date:
¢ Exercise 4 : Improper Fractions
.What is
1. Write the improper fraction for each of the following.
(a) 10 fifths = (b) 9 quarters =__
{c) 18 sixths = (d) 11 thirds =
2. Find the missing numerator in each of the following.
(b) 5==
1= d) 32=2
T @ 35=2%
5 _
of () S 4=

e

-

3. Changeeach improper fraction to a mixed number or a
whole number.

(@) 2= (b) =
© 3= (d) B=

avendish Inferriational (Siigapiore). Private Limited
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4. Express each of the following as a whole number or a mixed
number in its simplest form.

(@) &= (b) 2p5=——

(© 55= (d) 82=

19 _ 14 _
() 73= () 12%=

5. Express each mixed number as an improper fraction.

(CI) 1—5——3 (b) 2_79“. =

© 32 = (d) 4

NI

© L @Zoo Marshal Céven&is:ﬁ !ﬁtéi-ﬁaﬁbné[:'(_Si;‘l.g'a:pdré) Pri st Limited:
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Closs:

Exercise 5 : Fractions and

1. Fill in the blanks.

Each child gets

2. Find the value of the following.

(a) 33+6 (b) 25+4

3. Astring is 9 mlong. It is cut into 12 equal pieces.
What is the length of each piece?

syt

m long.

Each piece is

- Primry Mathortfics {Sandards Ediion)Exiva Practico §



4. Do these. Show all your working clearly.

(a) Mrs Li bought 21 kg of apples.
She gave the apples equally to 6 friends.
How many kilograms of apples did each friend receive?

\
(b) Tyrone had $108. He spent $18.
He divided the remaining amount of money equally
among 4 siblings.
How much did each sibling receive?
\\ /}/

' & 2008 Marshall Gavendish Internatiorial (Singapore) Private Limitet
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Exercise 6 : Fraction of a Set

recejve?

Find the value of each of the following.

(@) = of30=

(b) o of 180 =

() 2of40=

(d) % of 42 =

(e) S of 108 =

() +of 160 =

. @ 2008 Marshall Cavendish intermational (Sirgapore) Private Limited:
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2. Give each answer in its simplest form.
(a) Express 40¢ as a fraction of $1. \

(b) Express 60 cm as a fraction of T m.

(c) Express 45 minutes as a fraction of 1 hour.

(d) What fraction of 1 mis 35 cm?

(e) What fraction of 1 right angle is 607

() What fraction of 1day is 6 hours?

'rﬁuh:r_:Ma:ih'ém'ﬁﬁt'é’.('.St_ai'l:ddn!"s" '




3. Do these. Show all your work clearly.

(@) There are 36 peach trees in an orchard. ”"é of them are

flowering. How many peach trees are not flowering?

(b) 64 children took part in a singing competition.

% of them were boys. How many children were girls?

(c) Inaclass of 42 students, 14 wear glasses.
What fraction of the students wear glasses?




(d) Jane has 60 stamps. 36 of them are Canadian stamps.
What fraction of her stamps are Canadian stamps?

(e) Mother bought a bag of 80 buttons. She used 16 of
them. What fraction of the buttons were used?

_—

\\‘\\
f) A bal\é‘dm\glant is 25 cm tall. Express 25 cm as @
fraction of Tm.__




Unit 4 : Geometry
Right Angles
90° 180° O
270° 360
d 16 of
A %—-turn A %-turn A3 turn tA :0?;@:?@4
. - urn for
forms a right | forms two forms 3 right | * >
) l right angles.
angle. right angles., | angles.
1right angle = 90°
2 right angles = 180°
3 right angles = 270°
4 right angles = 360°
as a This angle is less than 90", This angle is more than 90°,
It is called an acute angle. It is called an obtuse angle.

Acute angle <90°.
Obtuse angle > 90° but < 180",

Singapare) Private Liniited



Measuring Angles

We measure angles in degrees.

Perpendicular Lines

BRI EE

=180° + 40°
=220°

OR b =360°— 140°
=220°

~ Perpendicular lines meet at right angles.

Primory Motherafics (S{u.m_i.d;d;'_Ed_i'ti_bn} bra Practice d

AB and CD are
perpendicular lines.

We say AB is perpendicular to CD.

We write AB L CD.

2008 Marshail Cavndish Intercational (Singapore)




Paralle! Lines -

- Paraliel lines never meet.

A > B AB and CD are parallel lines.
We draw arrowheads on.the
C > D lines to show they are parallel.
We say AB is parallel to CD.
We write AB // CD.
Quadrilaterals

“Apolygonisa closed figure with straight s:des
A quadra!atemi is g 4- saded polygon

These are quadrilaterals.

A square has 4 equal sides.
It also has 4 equal angles.
Each angle = 90°

A rectangle has equal opposite
sides. It also has 4 equal angles.
Each angle = 90°

@ 2008 Marshall Cavendish Iiterngtioral (Singapore) Prvats Lirited.
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ABCD is a trapezoid.
lt has one pair of
parallel lines.

EFGH is a parallelogram.
It has two pairs of
e SR A0 S parallel lines which are
Ra IR A equal on opposite sides.
parallelogram |

)

v

JKLM is a rhombus.
It has two pairs of parallel
lines. It has 4 equal sides.
NS It is a parallelogram with
L equal sides.

- rhombus |

We use arrowheads (») to show parallel
lines.

We use strokes (/) to show equal sides.

@ 2008 Mairshall Cavendish Intsmatiorial (S
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Triangles

A trmngle is a 3-sided po!ygon X
Anequilateral tr:cmgle has 3 equcal sxdes

. ~Anisosceles triangle has 2 equal sides.
. Ascalene triangle has no equal sides. ..
An eqwlateral tnangle is also an rsosce!es trlcmgle

' b A
. : 0

_ 6 (oo
gram. Z/\ £)45°
| 60° 60° 40° 40° 80°
G e } ‘

des. equilateral triangle isosceles triangle scalene triangle
parallel Circles
;S'd_es' A cnrcie isa closed ﬁgure it |s not cs polygon because lt does
m with ‘not have strcught sides. | T
- The diameters of circle pass through rts centre
‘The diameters are equal.
~The radius of a circle is measured from |ts centre to :ts edge
'_-The !‘CldlUS is ~3— the Iength of the dlameter |
llel |
C
es. O is the centre of the circle.
AB is a diameter.
A 8 OC is a radius.
O OD is also a radius.
AB = 2xOC

: ?nmnry Muihemcmcs (Siundurds Edifion} .Ex_frq. I.?_'rddlce'.fi




| réctanigulcnré

triangular prism 3

tric%nguliar py%rami;d

A rectangular prism has 6 faces.
Each face is a rectangle.

A triangular prism has 5 faces.
3 of its faces are rectangles.
2 of its faces are triangles.

A triangular pyramid has 4 faces.
Each face is a triangle.

A rectangular pyramid has 5 faces.
4 of its faces are triangles.
1 of its faces is a rectangle.

A solid cylinder has a curved surface.
It has 2 flat faces. cylinder

*. "9 2008 Marshall Cavendishi Interriationial (Singapore) Private Livited]
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Nets

A net of a solid is a figure which folds to form the solid.

A cube has more than one net.

Nets of a cube

612008 Marshakl Cavéndish ntarmational (Singapare) Privat Lifmitsd ;.
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Class: Date:

Exercise 1: Right Angles

1. Markall the right angles in each figure. Then complete

the sentence below it.

(a) (b)

There are There are
right angles. right angles.
() (d)

There are There are
right angles. right angles.

e

o

-




— School

2. Use the picture to help you complete the table below.

Bus stop

(f)

/

Hill
Ryan is If he turns He will
facing the face the
tree 1 right angle to the right school
tree 3 right angles to the left
bus stop 2 right angles
bus stop 3 right angles to the left
school 4 right angles
school 1 right angle to the right
hill 3 right angles to the left
hill 2 right angles

' © 2008 Marshall Cavenidish International (Singapare) Private Lirited :




slow.

1

| Bus stop

He will
face the

school

(Singapore) }_‘-"riv'atei'l_wfmited :

Class: Daie:

Exercise 2 : Measuring Angles

1. List all the marked angles in the table below.

s PN

(a) Ri"g ht angles

(b) Smaller than
a right angle

(c) Greater than
a right angle

& 2008 'M.arsﬁall- Caivendish friteriistional (S'ir'_lg.ap:cre.) Private Limited




2. Measure the marked angles. 3

(a) A (b)

e
e
e e

S

S
Srmmita
o

% G
s . - s
i S T B
Mevimu . - _:{: -

s



3. Use the marked end-point of each line to make the required
angle. Mark the angle.

a b

pEm ’-\/. T
e
R e S N

e

1



4. Measure the unknown marked angles in each of the

following rectangles.

N
ZNPO =

X
LYXL =

following figures.

5. Measure the unknown marked angles in each of the

LSTV =

© 2008 Marshall Cavendisti Interriational (Singapore




6. Fill in the blanks.

(a) A complete turnis right angles.

It is degrees.

(b) % of a complete turn is right angles.

It is degrees.

_Jf of a complete turn is right angle.

It is degrees.

3
4

It is degrees.

of a complete turn is right angles.

7. Measure the marked angles.

(@) (b)

R L

3 e v
.

A I ey
R

S s
S
e
Do e




5
it




Class: Dafe;

Exercise 3 : Perpendicular Lines

1. Name each pair of perpendicular lines.

(@)

al (S'lpg'apq_ré)_'_Friyal_'_e Limmited: ._ :

G En
e

s B
- .

T

i S
o %%W
i

.




2. Draw a line perpendicular to each of the given lines through
the point P.

(@) (b)

"% '@ 3008 Marshad Cavendish intrational (Singapore) Brivate Lie
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Name:

Class:

Date:

Exercise 4 : Paragllel Lines

1.

Name all the pairs of parallel lines.




7 Use a set-square and a ruler to draw a line parallel to each
of the given lines through the point P,

(@) (b)

@ 2008 Marshall Cavn
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Date:

Exercise 5 : Quadrilaterals

1. Name the following figures.

Figure Ais @

Figure Bis a

Figure Cis a

Figure Dis g

Figure Eis g

(f) FigureFisa




Identify the quadrilateral in each case.

(a) This quadrilateral has 2 pairs of parallel lines.
" None of the angles is 90°. What quadrilateral is this?

(b) This quadrilateral has one pair of parallel sides.
What quadrilateral is this?

Mark the parallel sides in the figure.
(@) ]

" Periary Matherdatics {Stondards Ediion} Exra Pracice S " 3008 MarahallCavendish Intermatonal (Sigapore) Prvats Line
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Exercise 6 : Triangles

1. Which of the following are right, isosceles or equilateral
triangles? Name them.

A NI
ARV VS

(a) Triangle Ais a/an triangle.
(b) Triangle B is a/an triangle.
(c) Triangle Cis a/an triangle.
(d) Triangle D is a/an triangle.
(e) Triangle E is a/an triangle.
(f) Triangle Fis a/an triangle.

2008 Marshall Caverish iternational (Singapors) Private Limited " phm i _--p,,m3gw_mg;h¢m¢f.cg_ [_Stunijnfds.Edﬂrqn)_-'l.f_,'m'u Practice 4 -




2. Write “Yes’ or ‘No’ in each blank.

(a) Does a triangle have 3 vertices?

(b) Does an equilateral triangle have
two equal angles only?

(c) Does a scalene triangle have
two equal sides?

(d) Does a right-angled triangle have
two obtuse angles?

(e) Can a triangle have 3 acute
angles?

Primary Mathamatic {Stondords Edion) i Practc 4
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Exercise 7 : Circles
1. Look at the circle. Then name the parts correctly.
C
A B
O
In the circle above,
(a) Oisthe ,
(b) ABis the ,
(c) OCisthe
2. Fill in the blanks.

(a) The diameter of a circle is 10 cm.

Its radius is cm.

(b) The radius of a circle is 18 cm.

Its diameter is cm.




3 Write “Yes’ or ‘No’ in each blank.

(a) Does a circle have no corners?

(b) Does a circle have vertices?

(c) s the length of the diameter of a circle
half the length of its radius?

(d) Does the diameter of a circle pass
through its centre?

(e) Isthe length of the radius of a circle

half the length of its diameter?

s e T
e




Name: Class: Date:
Exercise 8 : Solid Figures
f' 1. Identify the solid figure shown in each case.
| (a) ‘
. (b) '

(d)




9. Fill in the blanks.

(a) How many faces of a rectangular pyramid are triangles?

(b) How many faces of a rectangular prism are rectangles?

(c) How many faces of a cylinder are squares?

(d) How many faces of a triangular pyramid are triangles?

0 2008 Marshall Cavendisit interratioral (Sigapore) Piivate Limited
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Exercise 9 : Nets
angles?
1. The figures show the nets of some solids.
- ._ ':;Z. a : ¢
gles? (@
What is this solid figure?
(b)
gles?
What is this solid figure?
(c)
What is this solid figure? | "

e

TR A
She o
S e

i



Draw the shape of the net of each solid.

© 2008 Marshall Cavéndish Intérmational (§ihgapore) Private
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Unit 5 : Area and Perimeter

Area of a Rectangle

‘Area of a rectangle = length x width

fRecﬁanglé A

Recétang:le B

Each square in the grid has an area of 1cm2.
Rectangle A has an area of 21 cm2.
Rectangle B has an area of 15 cm2.

e 4 I
" Other units of area: 1¢cm? =1 square centimeter

Square inch (in2). Area of Rectangle A
“Square meter (m?) =7 cmx 3 cm
“ Square kllometer - =21cm?

(ka) R Area of Rectangle B
Square foot (ftz) =5cmx3cm
- Square yard (yd?) —15 cm?

“Square mile (mi2) (-

| singapore) Privato Liited Lo Y S :P.'rimq_r'y Md'i'ﬁe'rﬁdﬁ'cs {Standards Edition) Extra Practice 4




Perimeter of a Rectangle

 Perimeter of a rectangle = 2 x (length + width)

Perimeter of Rectangle C=2 x (4 + 2)
12 cm

Perimeter of Rectangle D=2 x (4 + 3)
14 cm

Find the area and perimeter of the rectangle below.

6m

Area of rectangle =6 mx3m
18 m?

Perimeter of rectangle=6m+3m+6m+3m
18m

o Pfin:iurf M-mhmﬁcs.;(.gm-,,dq',d; Editian) Extra: Practice 4 '©2008 Marshall q;-a_\_)en"d_ish'_lnte'mgtidnal _(Sin_éa_P:bre) Prvate Linl




Composite Figures .

A composite figure is made p of more than one shape.

Find the area and perimeter of the figure below.

4m

Area of figure = Area of A + Area of B + Area of C
(2x2)m2+(4x4)m2+ (3 x2)m?
4 m?2+16 m?+ 6 m?2

26 m?

Perimeter of figure = (6+3+2+14+4+14+2+2+2+1)m

24 m

ap’are)_F_' vate Limied 008 Marshal C'a'v_eﬁdlsh'Is;lté_mat{onéi_-('Sing.a.poré)“Pri\r.ate Limited
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5 Find the area of the shaded part of the figure.

14c

Area of big rectangle =14 cm x 12 cm
168 cm?

Area of small rectangle =10 cm x 8.cm
80 cm?

14 —4=10

12—-4=8

Length of small rectangle is 10 cm.
Width of small rectangle is 8 cm.

Area of shaded part

" ©2008 Marshall C: verdish Intornatianal {Singapore) P ot Limiled
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Class: Date:

Exercise 1: Area of Rectangles

1. Find the area and perimeter of each rectangle or square,

(@)

6cm

3cm

Areag =

Perimeter =

Area =

Perimeter =

2. Find the unknown side and the area of the rectangle.

A

D

Perimeter = 30 cm BC =

Areg =

ations (Slngapo_r_e) Pmﬁat_e Eimiitad
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3. Do these. Show all'your work clearly.

(a) Kyle uses 18 old stamps to make a picture. She lays
them side by side. If each stamp measures 3cm
by 2 cm, find the area of the picture.

(b) A rectangular garden measures 28 mby 16 m.
What is the area of the garden?

(c¢) Cameron wants to carpet his living room floor, which
measures 8 yd by 4 yd. If the carpet costs $15 per
square yard, how much must Cameron pay to buy the

carpet he needs?

iaif Cavandish Intartitionat

ards Edon] Extra Pracics 4 e
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Exercise 2 : Perimeter of Rectangles

1e lays

1. Find the unknown side and the perimeter of each of the
following rectangles.

9 m 7 ?O m
7| Area=36m’ Area =56 yd?| 7 yd
A
B
Area=150m? |7
?
8 cm Area =128 cm? =
?
C
9 ft Area =117 ft*

Figure Area Length Width | Perimeter
(a) A 36 m? 9m
B 56 yd? 7 yd
(c) C 128 cm? 8 cm
D
E

117 ft2 9 ft

g Pnrﬁnry- Mﬁiﬁemuﬁcs.(ﬂfundurﬁs fdil.io.n)'E.xtru Practice 4



2. Do these. Show all'your work clearly.

(a) The area of a rectangle is 30 m2. If the length of the
rectangle is 6 m, find its width and perimeter.

(b) The area of a rectangle is 24 in.2. If the width of the
rectangle is 4 in., find its perimeter.

() The square and the rectangle have the same perimeter.

7 ft

() Find the width of the rectangle.

(i) Which figure has a bigger area?

ary Matheniatics (S " &5 2008 Marshail Gavendish Infernat al (Singapors) P
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Exercise 3 : Composite Figures

1. Find the perimeter of each of the following figures.
(All'lines meet at right angles.)

(a) 14m

OSm 14m
._‘F" 4H'F

PrimaryMuthemnircsSrnndurds dl!mn}Exlumcme4



2 Find the area of éach of the following figures.
(All lines meet at right angles.)

(a) 8cm 10cm

By

1

Lirni
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3. Find the area of the shaded part of each rectangle.

(a)

- Primary Mothemafics (StandardsEdon] Eitra Pracice 4



4. Do these. Show all your work clearly.

(a) A rectangular garden measures 28 ft by 15 ft.
A concrete path 1 ft wide is paved around it.

What is the area of the path?

: .28_&_._ 5=

(b) A rectangular living room measures 6 yd by 5 yd.
A carpet is placed on the floor of the room leaving a
border 1yd wide all around it. Find the area of the

border.

Pri'rhufy'Mmhemqtlc_s' (S’Iunddr’ds: E_d:h_iuﬁ): _Ei(i'f'a Pfutiité 4




Tenths

'W:Hé'n"\:/&e'd'i'\:/'id'é.o'hé whole into 10 'e'qij'ql parts, each part
Bsgporod
0.1is a decimal. It stands for 1 tenth, R LR
Thedotina decimal is called a decimal point. The decimal
point separates the whole from the fractional part.

1. Write % as a decimal.

0.4 is read as ‘zero point
four’ or ‘four tenths’.

2. Write 2—% as a decimal,

i

3 _
2~1~6—2.3
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Hundredths

When we lelde one who!e mto _100 equai ports each part

100

0.01 stands for 1 hundredth
10.07 has two decimal plqces-._.:_

We read 0.01 as ‘zero
point zero one’ or ‘one
hundredth’.
We read 0.10 as ‘zero
point one zero’ or ‘one
110 tenth’ and 0.20 as ‘zero
0 point two zero’ or ‘two
tenths’.

Write 2100 as a decimal.

31 _
100 — 2.31 31

2700
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qual parts, each partis

'1000"
0. OOT stqnds for one thousand&h
=._:__O'OO1_has three dec:mal places

1. Write a decimal for each of the following.
(a) 5ones 3 thousandths = 5.003

(b) 8tens 6 ones 5 tenths 2 thousandths
= 86.502

(c) 4tens 8 tenths 2 hundredths 9 thousandths
40.829

We read 40.829 as ‘forty point eight
two nine’ or forty and eight hundred
twenty-nine thousandths’.

Bilvate Limited 92008 Marshall Gavendish nterations) (Singapiore) Private Lined - -
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Rounding '
- We can use a number line, place value chart or fol_low;_rul'eé;_'_jlj_f:;_.:__f_ |
'_ﬁro_u_nding"ft_o help us round numbers. . . S

Rules in Rounding

‘Look at the digit in the preceding place value. If the digitis
1,2, 3 or 4, we round down. If the digit is5,6,7,80r9,we -

whole number " tenths place

ten ones place Round

tenth hundredths place down Round up _
hundredth thousandths place

1. Round 27.543 to the nearest
(a) whole number, (b) ten,
(c) tenth, (d) hundredth.

Place Value Chart

@¢ © ' @'
This digit This digit ~ This digit This digit
is > 5. is 5. is < 5. is<5.
Round up. Round up. Round down. Round down.

(a) 27.543=28 (to the nearest whole number)
(b) 27.543=30 (to the nearest ten)

(c) 27.543=275 (to the nearest tenth)

(d) 27.543=27.54 (to the nearest hundredth)
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Name: Class: Date:

Exercise 1: Tenths

1. Write each fraction as a decimal.

(@ 5= ®) 15=
(© 32>= (d) 153 =
(&) 2:5= (f) 4=

Write each decimal as a fraction in its simplest form.

(a) 0.6= (b) 1.8

2008 Marshall Caveridish !'n!ern'a onal {éiriQ poré) Private .Lir'riitéa‘_- :
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3. Fill in the blanks. -

il

(a) 0.9

i

(c) 25

4. Write the numbers in decimals.

tenths (d) 8.6

tenths (b) 1.3 =

I

(a) 6ones5 tenths=

(b) 3 ones9tenths=

(c) 5tens 2 ones 6 tenths =

(d) 8tens 8tenths=

30+6+

(a) 36.5

50 +

(b) 50.2

(c) 784=70+8+

(d) 293 = tens +

(@ 07,080 L 11112

® o5, 1] L 253

ones +

Complete the following regular number patterns.

Fill in the missing decimal or whole number in each box.

tenths

tenths

tenths




tenths

tenths

box.

Name:

Class: Date:

Exercise 2 : Hundredths

Write each fraction as a decimal.

(@) 125= b

39
(© 2= (d) 2=

(&) 10100 () 9100

Fill in the blanks.
(a) In28.09, the digit 9is in the place.

Its value is

(b) In80.65, the digit 6 is in the place.

Itsvalue is

Write the value of each of the following as a decimal.

5 1
(a) 29+100 ‘ (b) 62+.1—0~+—ﬁ)—_

a.E?.I;imifed SR




4, Fill in the missing decimals.

(a) 8.88=8+0.8+

(b) 12.07=10+2+

(c) 34.45=30+4+ +0.05

(d) 59.11=50+9+ +

5. Fill in the blanks.

(a) 0.05= hundredths
(b) 0.36= hundredths
(c) 0.7= hundredths

(d) 1= hundredths

(e) 1.8= hundredths

6. Complete the following regular number patterns.

(@) 0.25, 0.2, , . 0.05

(b) 2, 175, 15, , . 0.75

indish Inferational (Singapore) Private Linitéd
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7. Write each decimal as a fraction in its simplest form.

(@ 0.25= (b) 3.75=
(©) 0.06= (d) 4.02=
(e) 0.35= (F) 845=

8. Change the denominator to 10 or 100. Then write the
fraction as a decimal.

(@) == (b) 51=
() 105= & 1=

() 3= f) 22 =
@) 5= (h) 495=
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9. Write each amount of money as a decimal.

(a) 2 dollars 17 cents

(b) 5dollars 25 cents

(c) 10 dollars 80 cents

(d) 195 dollars 65 cents

10. Circle the greatest vaiue.

(a) 20.07, 20.70, 2017

(b) 368.18, 368.80, 368.81

(c) 1042.46, 104.46, 1042.64

(d) 21,672.99, 21,672.89, 21,762.98

y

¥




Name:

Class:

Date:

Exercise 3 : Thousandths

1.

Write each fraction as a decimal.

(a) 1000 (b) 1000“
(©) 1000 (d) 1_1(%‘:
(®) 11)3050 - ® 21000
(9) 91000 (h) 3035050 1000

Fill in the blanks.

(a) In7.328, the digit 8 is in the

Its value is

(b) In59.043, the digit 3 is in the

place.

its value is

Fill in the missing decimals.

(a) 6.512=6+0.5+0.01+

(b) 23.086=23+0.08 +

(©) 10.227=10+0.2 +0.02 +

rational (Singapare) Private
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4. Fill in the blanks. -

(a) 0.007 = thousandths
(b) 0.039= thousandths
(c) 1= thousandths

5. Write the value of each of the following as a decimal.

(@) 12+=5p-=
(b) 8+ 7=
(c) 25+—%+%:
@ 7+ 555+ To00 =

(e) 2 thousandths=

(f) 3 hundredths 8 thousandths =

(g) 7 tenths 5 thousandths =

(h) 6ones 6 thousandths =

(i) 9 tens 9 thousandths =

() 2 hundreds 3 tenths 5 thousandths

" 2008 Marskall Cavendish Interriafional (Singapore) Private Linite
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6. Circle the smallest number in each set.

(@ 2, 095, 18, 156

(b) 137, 3.07, 7.3, 0.736

(c) 6999, 81, 9, 7.023

(d) 0.9, 102, 086, 2.012

7. Circle the greatest number in each set.

(a) 4.85, 490, 5, 4.998

(b) 2.31, 3.60, 198, 4.01

(© 2.2, 193, 196, 0.995

(d) 459, 6.1, 595 438




8. Fill in the blanks.

(a) 0.1more than 29.9is

(b) is 0.01 less than 59.69.

(c) is 0.01 more than 83.9.

(d) 0.001 more than 62.29 is

() 0.1 more than 76.89is

(f) is 0.1 fess than 28.93.

is 0.001 more than 19.99.

(9)

is 0.001 less than 30.1.

(h)

(i) 0.001lessthanTis

() 0.01 more than 5.99 is




Name:

Class: Date:

Exercise 4 : Rounding

1.

Fill in the blanks.

(a) 5.6is when rounded to the nearest

whole number,

(b) 123is when rounded to the nearest

whole number.

(c) 2943is when rounded to the nearest

whole number.

(d) 60.51is when rounded to the nearest

whole number.

Round each of the following to the nearest tenth.

(a) 58.92 (b) 34.36
(c) 399.63 (d) 205.05
(e) $15.25 (f) $65.73

Round each of the following to the nearest hundredth.

(a) 69.052 (b) 86.535

(©) 35.688 (d) 164.569

(e) 561.955 (f 216.243




Round each of the following to the nearest kilogram.

(b) 59.4 kg

(a) 36.54 kg

Round each of the following to the nearest yard.

(@) 22.15yd (b) 91.52yd

Round each of the following to the nearest liter.

(a) 4.63/ (b) 17.45 ¢

Round each of the following to the nearest kilometer.

(a) 64.48 km (b) 529.7 km

Choose the best answer and write it in the box.

Diana weighs about 35 kg. Which one of the following could

be her actual weight?

3445kg, 35.60kg, 34.35kg, 35.38kg




Unit 7 : The Four Operations of Decimals

Addition and Subtraction

:"We add and subtract decimals in the same way as whole
_'numbers We have to put the decrmal pomt correctly

1. Find the value of

(@ 2.9+36 (b) 3.65—0.32
2.9 3.65
+ 3.6 _ 0.32
6.5 3.33

2. Estimate each value. Then add.

g could 12.61+89 = 13+9 OQ
@

= 22

11
. 12.61
The answer is reasonable. + 89
21.51
3. Estimate the value. Then subtract.
15.94-603~16-6 | Oy .
=10 1

The answer is reasonable.

|
WO O 5
0o Ww
[ IS
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Multiplication -

We multlply deumals m}the same Way as Whole numbers g
| Then we put the decimal point accord;ng:to the total number
| of dec:mai places in the deczmols that are mu!tlplled

1. Multiply 6.14 by 5.

2
6.1 4, —two decimal places

30.70
LW,VM_.J
two decimal places

2. Estimate the product of 35.02 and 7.

3
35
7
245

35.02x7 = 245

The answer is reasonable.
J
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number

Division

‘We divide decimals in the same way as whole numbers.

1. Divide 7.2 by 8. We align the

decimal points.

~J

oo
~ O
OIN N|W

2. Estimate the value. Then divide.

4527 +9=45+9

=5 5.03
9)45.27
45

3. Find the value of 24.6 - 4.

5
0

Y |-

6.
4)24.
24

246 +4=6.15



4. Find the value of $48.18 + 3.

$48.18 + 3 =$16.06

Co O

06
3) 18

N TS I N po
o

—
C |00 Co

- A
4818 =40+8+0.1+0.08

4818 = 3:
Step 1: 40 -+ 3 =1ten + 10 ones
Step 2: 10+ 8=18
Step3:18+3=6
Step 4: 0.18 +3=0.06

48.18 =16.06

\.

.

S
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Name: Class: Date:

Exercise 1: Addition and Subtraction
1. Find the sum.
| (@) 0.6+0.4= (b) 0.7+0.8=
(©) 32+08= (d) 54+00=
(e) 5.7+3= (f) 7.6+29=

(g) 5.2+30.8= (h) 2.6+29=

() 40.2+8.8= G) 356.4+9.7=

(k) 2759+103= () 240+61.4= .
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(m) 4.85 +3.65=

(n) 3.46+0.8=

(0) 0.05+5.95=

(p) 23.16+0.08=

(q) 0.56+4.69=

() 1.8+0.74=

(s) 9.56+14.64=

(t) 51.8+7.34=

(u) 5.36+859=

(v) 3.4+4358=

(w) 91.65+19=

(x) 1.06+369=

Prirfory Mdlﬁemu’ﬁ_ts Standards Editiﬁn]'Ex_t'q- Pra




2.

Find the difference.

(o) 1.5-06=

100 —39.7 =




3. Do these. Show all your work clearly.

(a) Emma bought a storybook for $5.65 and a file for
$4.80. She gave the cashier $20. How much change did
she receive?

(b) Tinais 1.53 m tall. She is 0.19 m shorter than her
father. If her mother is 1.67 m tall, how much taller is
her father than her mother?

Primary Mathematics {Standards Ed




(c) Tyrone weighs 30.3 kg. He is 3.45 kg heavier than his
sister. What is their total weight?

(d) Caden bought a shirt and a belt. The shirt cost $14.75.

The belt cost $6 more than the shirt. How much did he
spend altogether?

ry Mathemtis (StandordsEdion) Exto Pacie 4.




Town A TownB TownC
& y wu A

40.3 km ?

The distance from Town A to Town B is 40.3 km.
The distance from Town B to Town Cis 3.95 km
shorter than the distance from Town A to Town B.
Find the distance from Town A to Town C.

(f) String Ais 0.8 m longer than String B. String B is
0.75 m shorter than String C. If String C is 4 m, find the
total length of the three strings.
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Exercise 2 : Multiplication

Find the products. Show your work clearly.

(a) 7x0.9=

(b) 6x0.7=

Find the products. Show your work clearly.

(a) 6.7x3=

(b) 9 x206=

(c) 2575 x4 =

(d) 9 x56.08=




3. Write the amount of money in each set.

d
© @ @ ® @

$0.90x2=4%

() 25¢ . .. 25¢ 250

$0.35 x4 =%




4. Multiply.

(a)
$0.55
X 3

5. Do these. Show di| your work clearly.

(a) Joe bought 3 storybooks. Each book cost $4.65.
How much did he pay altogether?

(b) Adam saved $0.85 each d

ay for 6 days. If he gave his
sister $1.25, how much m

oney did he have left?

Mathemaiic '(Sruhé_lu_l_fds:_fdiflnﬁ]_' Eirg Prgit'fice_'4




(c) Mrs. Hong bought 3 bath towels at $8.75 each.
If she gave the cashier $40, how much change did
she receive?

(d) Kate saved $15.35. John saved 4 times as much as
Kate. How much did they save altogether?

(e) Jackie spent $3.15 on a gift and $0.80 on a piece of
wrapping paper for the gift.
How much would it cost her to prepare 7 such gifts?

Primary Methematc (Sfundards Edon) Exa Prci
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Exercise 3 : Division

1. Find the quotients in decimals.

(a) 0.85+5= (b) 0.72+6=

(c) 0.96+8=

(h) 488 +4=

(i) 405-+9=

. ©2008 Marshall Caverdion Intehations. (Singapore) Private Lirited:
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2. Find the quotient. Show your work clearly.

(a) 7.56+3= (b) 845+5=

(© 3941+7= (d) 6822+9=

3. Divide. Give your answers in decimals. Show your work
clearly.

(@) 3+4= (b) 7.3+5=

() 50.8+8= (d) 51+6=

: Pri_mﬁ'ryf Mnfhem'ui_ __(S!uq’ld’&rd_é Edition) Eiitq" Practice 4 .




4. Divide. Give each answer correct to 1 decimal place.
Show your work clearly.

(a) 15.6+5= (b) 23.04+4=

() 20.82+3= (d) 41.04+6=

(e) 64.56+8= () 21.9+8=

(g) 38.3+9= (h) 123+4=




5. Find the amount. :

3 rulers cost $1.35.

1 ruler costs $

6 staplers cost $13.20.

1 stapler costs $

7 mugs cost $14.35.

1 mug costs $

TR
T
S
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6. Do these. Show all your work clearly.

(a) Kimberly shared $1.80 equally among her 4 nephews.
How much money did each nephew get?

(b) Zhenni saved $2.50 in 10 days.

If she saved an equal amount of money each day,
how much did she save in one day?

(c) Mrs.King had 5 purses.
Each purse contained $10.35.
If she divided the money equally among her
3 daughters, how much money did each daughter get?




(d) Catherine cut a ribbon 3.12 yd long into 4 equal pieces.
She used 3 pieces to tie some packages.
How many yards of ribbon did she use?

() Larry mixed 1.75 £ of orange juice with 5 times as
much water. He then poured the drink equally into
5 containers. How much drink was there in each
container?

(f) Karen paid $50.10 for 6 m of cloth and 2 pillows.
Each pillow cost $7.50. What was the cost of 1 m
of cloth?
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Unit 8 : Congruent and Symmetric Figures

Congruent Figures

~Two shapes are congruent if they are . of the same size cmd
shape Congruent shapes 'ﬁt each other excxctly .

These two figures are congruent.

The shape is the same
/\ but the size is not.

These two triangles are not congruent.
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Tiling Patterns
Tllmg pattems are made w;th congrue:nt shapes There qre no
}gaps or overlaps between the shcepes

These tiling patterns are called tessellations.
The unit shape used is shaded.

@ ... ... .. b -

All quadrilaterals can tessellate.

(a) (b) (©)

A circle cannot tessellate.

overlap

o @2008 Marshialt c




Line Symmetry

A symmetnc ﬂgure th one or more Imes of symmetry
“Aline of symmetry divides a ﬂgure mto two equal parts o
These equal parts ﬂt exactly R

Each of the above figures has one line of symmetry.

The figure above has more than one line of symmetry.

distf Intermational {Singapore | : il Priind_ﬂt:Muthf_ér:imfi.ts.:(Si’ﬁkl_durds"_Ed'it'i.d_r::}__'E.)(T'_rd Practice 4




Rotational Symmetry

Figure 1

the same.

D

A ﬁgure has mtatmnqi symmetry if; crfter rotatmg Iess than
360 the ﬁgure qppears to be in the orlgmal pos:tuon

We have put a dot at A to show the rectangle’s rotation.

A
E C ‘ D

B Figure 3 A

-
Figure 2

We can see that other than the dot, Figure 1 and Figure 3 look

The rectangle looks the same after
rotating 180¢. It has rotational symmetry.

moryMihemtics(tandards Edifion) e Procice .+~

The “T” does not
have rotational
symmetry.
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Class: Date:

Exercise 1: Congruent Figures

Draw a figure that is congruent to each given figure.

(a)

: &'5068 Ma’réﬁél!:'é.!a\;e'ndis.fi'intern'at.iqhél"(Sing_ébdréj'Pri'\}afé'.L'f.mited' e e yMuthemuﬂcs (ST{IH{EEFE'SEE’IHDH] Exlrquclice




2. Quadrilateral ABCD is congruent to quadrilateral PQRS.
R Q

(a) Which side of quadrilateral ABCD does PQ correspond

to?

(b) Name another pair of corresponding sides.

(c) Are the angles of quadrilateral ABCD the same as

those of PQRS?
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Name: Class: Date:

Exercise 2 : Tiling Patterns

1. Cokwthetnﬂtshapeusedhweadwofthefb”omﬁng
tessellations.

pond

(©) (d)

ngapore] Private Limitess -0 1o




2. Extend each of the following tessellations in the space
provided by drawing 5 more unit shapes.

(a)

- o
o

i

S
-

el
-
-

Vi

e : .
. .



3. Use the given shape to
provided.

(@)




... . o
o - ¢ - - : - > . -
e - o o -
-

z a:%“ - ' e
. - . .
o - : =

e R



Nome:; Class: Date:

Exercise 3 : Line Symmetry

1. In each of the following figures, is the dotted line d line of
symmetry? Write ‘Yes’ or ‘No’ in the blanks.

(a) (b)

(c) ' (d)
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3. Each of the following shows half of a symmetric figure.
Draw the other half of each figure.
(The dotted line is a line of symmetry.)

(a) (b)

@ ® ®
® @ ®
@ 2 @
® @ @ ® e ® ® o @
® ® ) LY @ ® @ [y @
@ @ ® ® ® ® @ @ ®
® ® @ ® ) ®
® [} ® ® e ®
I
I
|
@ ? ) @ ® ® ®
1
|
® & ® ® @ o ®
i
I
@ ® ) @ ® @ a
|
|
@ L Io @ @ ® ® -] o @ Y @ e ®
i
|
@ ® ® ® ® ® ° @ ® ® e ® @ ®

———




Class: Date;

Exercise 4 : Rotational Symmetry

1. Check (¢) the boxes if the following figures have rotational
symmetry.

a

N

ks

@
/N

oo
o
s JMM@/"‘Q/N\/
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Unit 9 : Coordinate Graphs and
Changes in Quantities

The Coordinate Grid
“A coordinate grid has two axes. They are the horizontal axis
- and the vertical axis. The axes meet at the origin or the point

6
5
4
3
2

Vertical axis

1

|
T

2 3 4 5 6 7

Horizontal axis

(2, 2) —» two units from O along the
horizontal and the vertical axes.

(5, 4) —— five units from O along the
horizontal axis, 4 units from O along the

vertical axis. F
N

(2, 2),(5,4),and (6, 2) are ordered pairs.

The numbers in an ordered pair are called the coordinates.
Coordinates of A are (2, 2).

Coordinates of B are (5, 4).

Coordinates of C are (6, 2).
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Changes in Quantities

When dlfferent quqntutles are relc;ted by an equat:on aq chcmge
m one quantlty WEEE caffect the other quant[tles in the equation

Recall that the formula for area of a rectangle is length x width.
If either the length or the width changes, then the area of the
rectangle will also change.

Suppose the length of a rectangle is twice its width.

If its length is 2 cm, its width is 1 cm and its area is 2 cm?.
If its length is 4 cm, its width is 2 cm and its area is 8 cm?,
and so on as shown in the table below.

Length (L) 2cm 4.cm 6cm
Width (W) Tcm 2 cm 3cm
Area (A) 2 cm? 8 cm? 18 cm?

Graphing Changes in Quantity

We can draw a graph to show how a change in one quantity
affects another quantity.

Using the values in
the table above, we
can draw a graph as
follows:

Length

— N W 1O

O 1 2 3 45 6 7 8
Width

We get a straight line when we join the points.
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Name: Class: Date:

Exercise 1: The Coordinate Grid

1. Give the ordered pair for each of the following points on the
grid.

.
-

5
o

o
2

G
-

e
e
e

it 7 et
-
-
et

: '_af"(s'ibg_a'po"re)_ Private Limited
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N

2. Find the length of each line segment.

10 |
S ;
D (6, 9) E(10,9) -
8
7 : -
5
5 —
4 - e
B (2, 4) C6,4)
3 -
5 ;
1 S -
AR F(10,1)
i i i

O 1 2 3 4 5 6 7 8 9 10 M 12

(a) AB= units
(b) BC= units
(c) CD= units
(d) DE= units
(e) EF= units

o




Name: Class: Date:

Exercise 2 : Changes in Quantities

1. The length of a rectangle is three times its width. Find the
change in its width as its length changes.

(a) When its length is 9 cm, its width is cm.
(b) When its length is 12 cm, its width is cm. |
() Whenits lengthis 21 cm, its width is cm.

2. Complete the table and graph.

- (a)
Numberofcakes | 2 | 4 | 6 | 8 | 10
. Total costof cakes | 45 | 5 50
indollars
(b)
50
40
Total costin
| dollars 30
| .: 20 :
10 ®
0 2 4 6 8 10
Number of cakes

©2008 MarshallCavendit Intamationa (Sngaporo)Prvs L 1+~ -+ 0Ty ry Mathermafics (Standards Edifon) Bxira Practice 4




3. The graph shows the relationship between the weight and |
number of bags.
12 '
11 |
10 |
Number of 8
bags e
g 7 s
6
e
> *
4
prd
3 o
2
1 e
e
O 1. 2 3 4 5 6 7 8 9 10 1 12
Weight of bags (kg)

(a) What is the weight of 5 bags?

(b) If the total weight of the bags is 9 kg, how many
bags are there?

* Priniay M&ihémntips. {Standards Editim)fﬁtr’if Pradice 4.



Organizing and Analyzing Data

- The results of surveys can be organized in different ways to

heip us analyze the data more easily. For example, we can
~organize the data from the least value to the largest value or -
‘wecanused Ime plot to present the data. The middle number

~of a set of data is called the median. The value that appears
“most often’in a set of datd is the mode of the data There can

be more than' one mode

A survey was conducted to find the number of fruits 20 students
eat in a day. The data collected is recorded in the tally chart.

- Number of fruits eaten - Tally
0 /717
1 A/
2 AAAE /S
3 /77

We organize the data from least to most.
0,0,0,0,1,1,1,1,1,1,2,2,2,2,2,2,2,3,3,3

middle
numbers
Median = % =15
Mode =2

The data is shown on @
line plot as follows:

Number of fruits eaten

© 2008 iishall Cavendish Internationial (Singapore) Private Limited”, | | 1"\ 'Pr'iﬁi'u.ry-'Mu:i!'iémdt'i'c's:.('S.fdh'du.:r:d:s Edifion) Extra Praciice 4 -




Probability Experiments

We can conduct pi‘obablhty expernments to determme the
proba bzhty of an outcome -

Order of OQutcomes

“Atree dlagram |s used to show the pOSS[ble outcomes of c;m
j expenment : - R R R

Suppose a bag contains red balis, green bol!s and blue bolls
Two balls are drawn from the bag each time.

The tree diagram below shows the possible outcomes of the
experiment.

| draw a red ball
on my Ist try

First Draw Second Draw  Qutcome

R » Red, Red

R G » Red, Green
B » Red, Blue

Green, Red

| draw a green ball
onmy st try

Green, Green

98,
¥

Green, Blue

Blue, Red

v

| draw a blue ball
Blue, Green | onmy lst try.

O
v

A A

Blue, Blue




Bar Graphs :

A %gbicur'g'mph' makes com pcmso n ofdatqeqsy

The table below shows the number of people who went to @
concert during a week.

Day | Number of people
Monday 500
Tuesday 1500
Wednesday 1000
Thursday 1000
Friday 2500
Saturday 4500
Sunday 6000

~J
-
-
o

TTTTTTTT T

Y2 e
o O
QO
o o

ATTTFTR T I T T ITT T

Mon .T.ue Wed ThLl Fri Sat Sun
Days of the week

sh international (Singapore) Private Lifitéd
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Line Graphs

Using the same set of data as that of the bar graph, we can
draw a line graph as follows.

6000 -
5000 -

TOTETTTITT Y

4000 -
3000

T T

2000 -
1000 -

THT{ITIITFTITETIOY

0

-~ Primary Mu!:h'e.ni&!i:é: (Standards Edition) Extr&'Prucii 4




Name: Class; Date:

Exercise 1: Organizing and Analyzing Data

1. Study the tally chart and answer the questions that follow.
- Number of children | Tally
ina famaly.. o
0 /77
1 A /7
2 HHH /
3 7/
4 1 17/

(a) How many families have no children?

(b) What is the greatest number of children shown in the
tally chart?

e

R

e

(c) How many families are there altogether?




2. (a) Use the data shown in the tally chart on page 157 to
plot a line graph.

(b) What is the mode?




Name: Class: Date:
Exercise 2 : Probability Experiments
1. There are green, red and blue balls in a bag. Jack drew 5

balls from a bag each time.

The line plot shows the number of green balls drawn on 5
tries each time.

(a) How many times did he draw only 1 green ball for
every 5 tries?

(b) How many times did he draw 4 green bails for every
5 tries?

(c) How many 5 tries did Jack attempt?

Sirgepors PivesLimiod - primary Mathematcs Sindards Ediio) Exira Procice 4




2. Linda tossed a coin 15 times. She obtained 10 heads and
5 tails.

(a) Linda obtained tails out of

times.

(b) What fraction of the coin tosses were tails?

(c) What fraction of the coin tosses were heads?

Primary Mathemafics Standards Eion] E




Name: Class: Date:

Exercise 3 : Order of Qutcomes

1. There are red, blue and yellow marbles in a bag. Susie

draws out two marbles, one marble at a time. What are the
possible outcomes?

Color of Color of Outcome
Ist marble  2nd marble

¥

R > Red, Red
is red.
R /Y Red. Yellow 1st marble is re

> Red, Blue
R > Yellow, Red
Y /Y > Yellow, Yellow
\B e Y@”OW, Blue
R > Blue, Red
B /Y > Blue, Yellow
\B > Blue, Blue

There are possible outcomes.

'.r_idisﬁ_'l'nlerné'tiun ('S'::nga.po(g}.Pﬂvat_e_ Lirnited:.




2. Complete the tree diagram.

Jebsen tossed a regular die twice. What are the possible
outcomes of getting a sum that is greater than 9?

Number that Number that
appears on die appears on die
on st toss on 2nd toss Qutcomes
4 6 = 10
5 =10
5
6 > [ 11
4 > | 10
6 5 = 11
6 > [ 12




Name:

Class: Date:
— das
Exercise 4: Bar Graphs

1. The bar graph shows the
in a week. Stud
follow.

800

number of tickets sold at a cinemag
y the graph and answer the questions which

700
600

500
Number

of tickets 400

sold
300

200

100

0

Thu
Days of the week

(@) What is the totgl number of tickets sold on
Saturday and Sunday?

Sun Mbn Tué Wed

Fri

How many tickets were sold from Monday
to Friday?

() How many more tickets were sold on Friday
than on Monday?

On Saturday, if 265 tickets were sold gt $8.00 each
and the rest at $6.00 each, how much
money did the cinema collect in gl|?

i :P_ﬁfm_dr'y'_M:ﬁi'_ligﬁiéﬁés_ (Stndards Edliion] Bxrg



2. The graph below shows the weight of fish sold by Carl
in 5 days. Study the graph and answer the question that

follows.

1007

80j

Weight go |
in -

kg 40r
20

0

Sun 1Ué VVed .Fﬁ Sa£

If Carl sold the fish at $8 per kg, how much did he earn
altogether during the 5 days?

3. The bar graph shows how the types of expenses of a family in
a month. Study the graph and answer the questions that follow.
600

500

400 -

.Awmunt 300;
in dollars
200+

100+
0

Transport Utilities  Food  Clothes Insurance

(a) What is the total monthly expenses of the family?

(b) What is the total monthly income of the family rf of
the total income is spent on food?




Class:;

Exercise 5 : Line Graphs

1. Study the line graph and answer the questions that follow,

The table shows the daily sales of hot dogs at a hot dog stand.

Number
of

hot dogs

Days of the week

(a) On which day were the sales of hot dogs the
highest?

(b) What was the increase in sales in h

ot dogs between
Friday and Saturday?

034 Maishill Caven D Prvats Limited o ..'-..-"P'ri'r_nar';:r'l'i'lulh_'e'r'_rm_ﬁcs (Standsirds Editon) Extra Pracice 4




2. The line graph shows the prices of different numbers of
toys. Use it to answer the questions that follow.

60 |
50 ,
Price 40
in
dollars 30
20
10
0 1 2 3 4 5 6 7 88 9 10
Number of toys
(a) Find the cost of 6 toys.
(b) What should the cost of 20 such toys be? |
\'
(c) Sulin paid $80 for some of those toys. |

How many toys did she buy?

i ?nmuryMatﬁemuhts (Stundurd : @-200_8 Mﬂi"_S‘}il.a" Cq&éndiéh'intérhaﬁnriél {siﬁgéparé).F.‘fivat'e'.'f._iﬁ_liie'
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Unit 11 : Measures and Volume

Adding and Subtracting Measures

_'Conversmn of Measurements | P .
‘Length: . G Welgh't'-- . Capacity: =~
Tm '—"IOO cm ~Tkg=1000 g - 14£=1000 ml
Tkm= 1000 m T !b = 16 oz e _.';--'I gal -4 qt RO
lyd= 3 ft S 1gt=2 pt
1ft= 12 in. RORE o apt=2e
Time: G A

Tyear= 12 months
Tweek=7 days
“1day =24 hours

1 hour =60 minutes

T minute = 60 seconds

Tkg +2 kg =3 kg
300g+900g=1kg200g
3kg+1kg200g=4kg200g

1kg300g+2kg900g
=4kg200g

' Tgal=4 gt
-3
zgalj gt ¢ gal 3 qt 9gal2qt=8gal6qt
g q 8galéqt—5gal3qt=3gal3qt

Multiplying Measures

2kg200gx2=4kg400g

200gx2=400g | (O
2kgx2=4kg

ihgapare) Private Limited % - =
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Dividing Measures 6 m+5=1mremainder 1m

Tm =100 cm
100 cm + 25 cm =125 cm
125cm+5=25cm

6m25cm=5=Tm 25 cm

Cubic Units

_'-_-The velume of a SO|ld is the Gmount of Space It occup|es.
“The volume of a unit cube is.1 cubic unit. |
" The cub:c centimeter (cm3) is-a unit of volume .
Other units of volume include cub:c mch (m 3) cmd
CUbiC meter (m3) milhllter cmd lzter | L

Volume of solid =6 cm?

Volume of a Rectangular Prism

Volume ofa rectangu]ar pr:sm Length X Wldth >< Helght

A rectctngular prism measures 5 cm by 2 cm by 3 cm.

5cm

2cm

3cm

Volume of the prism=5cm x 2 cm x 3 cm
=30 cm?

o 5508 Misshl Caveridish iermational {Singaps




Name: Class: Date:

Exercise 1: Adding and Subtracting Measures

1. Fill in the blanks,

(@) 5kg300g+3kg=

(b) 121b100z+6Ib=

(©) 20kg800g—-5kg=

(d) 35gal2qt—6gal=

2. Find the missing numbers.

(a) 30ft10in.+18 ft6in. = ft in.

(b) 23 min45s+12min22s= min 5

() 19gal2qt—5gal3qt=

qt

(d Mb6oz—61b120z= Ib 0z

(e) 1ft—8in.= in.

() 1lb—8oz=

: ._:andfy' Mdfﬁeﬁ]_ﬁntg (Standards E_Hifmn)fE)_dfr‘u. I?rﬂt_ﬁt 4o



3. Write the correct answer.

(a) The total weight of 2 mangoes is 4 kg. The smaller

mango weighs 1% kg. What is the weight of the other
mangos

(b) Container A has 2 £ 500 ml of water. Container B has
6 £ 350 m| of water. How much more water does
Container B have than Container A?

Primia YMu.ihér'n_éﬂ_its:.(S.iél.ﬁd'ufds' .E_d.i:t_i.u.n}._txi:nf:.Pfuﬁié_e 4 . L
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2. Do these. Show all your work clearly.

(a) Ryan saved $84 in 6 weeks. If he saved an equal

amount each week, how much would he save in
26 weeks?

(b) A boy ran 8 times round a rectangular field measuring
52 m by 30 m. What was the distance he ran?




(€} James weighs 52 kg 700
sister. Find their totq] weight,

9. He is twice as heavy gs his

(d) The capacity of Tank A s 4 gal 3 gt. The capacity of

Tank B is 3 times that of Tank A. What is the total
capacity of the two tanks?

o
Wﬁ&%"g\w

s
DA
-

e e
-
A o

o
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(e) Joshua spends 1 hour 35 minutes exercising every day.
How much time does he spend exercising in a week?

(f) The length of one string is 2 ft 3 in. What is the total
length of 4 such strings?

(g) The width of a rectangle is Tm 15 cm. Its length is
2 times its width. Find the perimeter of the rectangle.




Class: Date:

Exercise 3 : Dividing Measures

1. Divide in compound units,

(@) 8m48cm=4

(b) 6ft3in. =3

() 2qt6pt=5

(d) 25 years 6 months -6

-
i
=
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2. Do these. Show all your work clearly.

(a) Aribbon 5 m 40 c¢cm long is cut into 5 equal pieces.
How long is each piece?

(b) John spent $4680 in 5 months. If he spent an equal
amount each month, how much would he spend in a
year?

“Primgy Mm‘hemums(SlundurdsE ition | 'I_fl.]:?fu.ﬁi_ce;li_. ' _ ; ©2008 Marshall Gave




(©) Mrs. Liused 2 packets of floyr to bake 10 cakes.
ained 2 kg 250 g of flour. Packet B
g 900 g. If she used the same amount

e edach cake, how much flour did she yse
for each cake?

He is paid $5 per

days does he work?




(e) A painter mixed 8.5 liters of blue paint and 17.5 liters
of yellow paint. After using 9.5 liters of the mixture, he
poured the rest equally into 3 tins. How much paint
was there in each tin?

(f) 12 pails of the same size were used to fill a tank with
water. The capacity of the tank was 42 gallons. Find
the capacity of each pail. Give your answer in gallons
and quarts.

deieds Edition) Es . i 52008 Marshall Cave ral (Sirgapore) P Bt




Name; Class: Date:

Exercise 4 : Cubic Units

1. How many cubic units are there?

(a) _ |

cubic units

(b)

cubic units

cubic units

aréiall Cavehdish Intermational (Singapars) Piivale Liriied L S Primary Mathematics (Staridards Editon) Extra Praciice 4




2. The following solids are made up of 1-cm cubes.
Find the volume of each solid.

(a) (b)

(c) How many more 1-cm cubes must be added to the
solid in (a) so that its volume is 20 cm?3?

€ 2008 Marshall




Name:; Class: Date:

Exercise 5 : Volume of Rectangular Prisms

1. Fill in the blanks.

The following rectangular prisms are made up of 1-cm’

rectangular prism,

cubes. Find the length, width, height and volume of each

(a)

Length = cm

Width = cm

Height = cm

- Volume = cm3

|

(b)

Length = cm

Width = cm

Height = cm

Volume = cm?




2. Find the volume of each rectangular prism. Show your work
clearly.

(a)




Unit 1 Whole Numbers

1. {a) 27,005 (b) 250,400 8 {c] 18
() 93,009 (d} 550,046
2. 0a) 1,2 3,69 18
2. la) 40,000 + 7000 + 500 (b} 1,3, 9, 27, 81
(b) 500,000 + 10,000 + 6000 + 200 + 40 {c) 1,2 4,7, 8, 14, 28, 56
{c) 600,000 + 2000 + 80 + 3 (d) 1,2 7, 14, 49, 98
{d) 90,000 + 3000 + 5
{e) 2,000,000 + 100,000 + 30,000 3. (o) 12, 20, 36 (b) 12, 27, 36
(i 8,000,000 + 10,000 + 5000 (c} 20 (d)y 11,19

(e} 12,20, 27, 36
3. {a}  Forty thousand, five hundred sixteen

(b)  Ten thousand, twenty 4. fa} 4 b 3

(¢} Two hundred thirteen thousand, four hundred {c) 12 d) ¢

(d)  Five hundred two thousand, one

le}]  Three hundred thousand, two hundred eight 5. {al Yes b) 1,23 6

{ff  Five million, six thousand
{g)  Three hundred forty-eight million, seven
hundred fiffeen thousand, nine hundred eight

4 tal 100 b thousands, 3000 1. {a) 3,69, 12 b} 5,10, 15, 20
52)} ten t&ouscnds,( 2}0100%%0?1 : () 7,14, 21,28 i) 9, 18,27, 36

(d) 200,000 (e} 5,000,000 (A 7, 2

2. (a) 18, 36 b) 12, 24
. 35,2
5 EZ’]] 206 06 Eg} %%887 3. [a) 32, 60, 72, 88 b) 72
6. (a) 49,326 (b] 600 4. {a) 60 (b} 120
[c) 171,000 (d) 1,351,979 5 1) 40,75 bl 27, 36, 45

7. (e 25,792, 25822
(b} 4C,136, 40,236
{e) 70,271, 73,271 : S
(d) 45,810, 70,810 1. la} 18 b} 38 el 4

{d 14 le) 26 123
8. (o) 16,538, 46,385, 130,568, 336,058 (gl 230 {h) 64

(b) 104,002, 140,105, 1,165,305, 23,806,441

2. {a) 40 (b} $7.25
9. la) 2,6,5 4,0,1,8,9
bY 693240857
. Exercise 6
_Exercise 1. la) -1, =2, <3, -4, -5, -6
1. ta] 570 bl 1290 (] 12,400 by -1
(dj 107,410 2. (a) > bl < Q) =
2. (a) 4900 (b) 11,900 le) 318,000 (d < le) > H <

(d) 1,564,100 3. 100, 28, 19, 66, ~91

3. (a) 22,000 (b} 107,060 {c) 742,000

9 25785.000 4 (a) -20C  {b) -$1500 {0 -20m
4 fa) 20,000 (b] 290,000 Sola) <20 (b} 75l -T2 (d) -315
(9 1,450,000 (dl 106,470,000

5. {a) 100,000 (b) 7,200,000
() 19,500,000 (d) 124,800,000

6. (a) 3,000,000 (b} 18,000,000
(e} 390,000,000 (d) 539,000,000

. $1,800,000

.- 29,000,000

2008 Maishall Caveridish Intsmiational (Singapore) Private Lisited.




Unit 2 The Four Operations of

Whele Mumbers

1. (@) 2735 (b}
(e} 3,027,064 (d)
2. (a) 52,422 (b}
{c} 23,112,914 (d)
3. {a) 550 (b
4. {a) 183 dells (b

1. {a) 536 (b}

15,768
20,148,123

7,884,896
103,043,823

1563

629 more children

4230

{c) 55,032 dy 20,272
2. {a) 56 (b) 906 (¢} 738 (d) 563
3. la) 26,736 by 161
1. {a) 5040 (b) 51,120 &) 1932

{d} 40,000 (e} 62,426 le) 23,414
2. {a} 2100 (b) 36,000
3. {al 4235 gor 4 kg 235 g (b} 804
Unit 3 Fractions
1. (@) 2 {b) 4 {c) 15 idy ¢

e} 10 {f 28

2. la) 9 b} 6 {e) 12 ({d) 5

e} 5 th 7
3. [a) 3,12, 9 b} 15, 15, 40
4l = b+l F )
500 1% % b %55
' !
7. {o} Dani
{b} The melon is the heaviest.
The papaya is the lightest.
H ¥ @ %
() = (e) % Mo
2 (o) L, 3 ory bl & 7

id)

Id)

5. |a}

(dl}

(d}

(d)

10.{a)
(d)

(d)

(d)

(d}

4. (a}

{d)

{d)
3. {a)
d)

{dl

(d}

= (b}
1 (e)
+ (b}
— le)
Zor5 (b
tororg b
+ (b)
+ (e}
+ (b)
= (e)
o {b)
+ fe)
2 {b)
= fe)
+ (b)
7%
2% (b)
4%
1+ (b)
4 fe]
2% yd (b)
¥ (b)
%
12 (b)
7 (e}
14 {b)
1%
14 {b)
@ {e)
L (b}
= (e)

oo

—_

w

zN oo wl= o= sl = G- wle @ of- alw wla
=

e
(o

(48]

| w
[ P N

@008 Ma._r's.hau Cavendish inferﬁa_tional .(SI'n'gap:mrP;

o) +
h <
o) 2
h =

= o

=

o
e R P - SN T

o)

M+

(c) John, -f—i- more

=2}

(e}

o

e} 7
(f 1

(e} 3+

|

th 14

|~

R+l

{c)
()

= 28
U
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(b} 6%
{b] $22.50
1. {a) 6 b} 20 (c}
(d} 35 {e} 96 (F}
{g) 6 (hy 5
2. {a) % b} 2 fe)
(d & ) £ (
3. (a) 28 b) 16 lc)
2 fe) + {h
Unit 4 Geometry
(b)

There are 3 right angles.

{c) (d}

sh irtermatianal (Sirgapan

There are 2 right angles. 7.

_ 3.
d
b

Lag = 75° b = 38°
24
112 c d
— T
3
r Ze = 70° Zd = 165°
T
1
3
e
A y \j)/
Le = §23° 2f = 134°
4. (a) 50° b) 25 {c} 34 (d) 55°
5. {a) 38° (b} 108"
6. la} 4,360 (b) 2,1801(c) 1, 90 (dl 3, 270
(@) 2200 (b} 310" (¢} 245° {d} 335"

1. a] AE L AB, ED & DC
(b) FE R EI El ko IH, FG b GH
() OJ b JK ON B NM
(d} PTH TS, TS h SR, RQ b QP
There are 4 right angles. There are 2 right angles. 2. la) 8 {h) o
A/<
2. {a) school (b} tree (<) hill P
(d}  school (e} bus stop ifi  tree
lg) schoo! () G\(P
1. (o) o b,cd hkaq,y:z H
“3} e, F, O, P, N, U Y, X
&l g i Lmstw
e}
2. (o) 45 (b) 90° e} 120°
{d) 105° (e) &67° 157




MP//NO i

(a)
{c)

2. (a)

1. {a}
{e)
(d)

CD//GH {b)
WZ/ /XY, WX/ /ZY
SR//PQ, TP/ /RQ

1. {a)
{c)

2. {a)

(b)

()

{b)
(e}

rectangle
trapezoid

square {c)

rhombus 2
parallelogram {f}

trapezoid

3. {a)

parallelogram or rhombus {b} tropezoid

(b)
1. {a)
(<}
(e
2. [a)
{b)
1. (e right (b} isosceles [c) isosceles
(d) equilateral {e} right (f  equitateral
2. [a) Yes (b} No ) No
fe) Yes 1. (a)
2. (q)
1. (a) centre {b} diameter (€] radius
4. (a)
2. (o) 5 {b} 36
3. (o) Yes th} No (] Neo
{d] Yes {e) Yes

4m,26m

triangular prism
triangular pyramid

4 b) 4

cube
rectangular prism

18 ¢m?, 18cm

. 54 ¢m?, BC = 9 cm

108 em? ib)

16 e¢m, 48 cm
15m, 50 m

b} square pyramid

{d}

[c) O

{b}

cylinder

{d) 4

squore pyramid

Unit 5 Area and Perimefer

width = 5 m, perimeter = 22 m

perimeter = 20 in.

(i) width = 3 f

134 m {b}
332 cm? {b}
160 m? {b}
90 f2 {b}

{b} 20 cm?, 18cm
448 m? ¢} $480

{b} 8 yd, 30 yd

{dYy 13 Hh, 44 &

{ii} square

90 m e} 72 em
334 cm? (¢} 570 m?
284 cm? (e} 204 m?
18 yd?
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Unit & Decimals . 5. {a) 12.001 {b) 8.025 (¢} 25.403

(d) 7.068 {e)] 0.002 0 0.038
gl 0705 thl  6.006 (i}  90.009
— (il 200.305
1. {a] 0.3 (b) 0.8 &) 35
16 e} 2.7 h 49 6. (a) 0.95 (b} 0.736 c}  6.999
, . ) idl 0.8
2. {a) % ) 14 () 3%
5 7. {a) 5 {b)- 4.01 [c) 2.2
(d) 555 (d) 6.1
3 (o) 9 {b) 13 fc) 25 8 (a) 30 b} 59.68 ] 83.9
{d) 86 {d) 62.291 fe} 76.99 (i 2883
(g} 19.991 {hy 30.099 lit  0.999
4, la) 6.5 b} 3.9 (c} 52.6 il 6
(d) 80.8
5 (a} 0.5 b) 0.2 {c) 04 _
1. (a) 6 by 12 fc) 29
6. (o) 0.9,1.0 tb) 1.5 2 {d} 41
2. {a} 589 (b) 34.4 {c) 399.6
{d) 205.1 le] $15.30 h $857
1. [a} 0.05 (b} 0.08 {c} 039 3 (o) 69.05 {b) 86.54 e} 35.69
{d 0.63 el 10.99 9.5 id}  164.57 (e} 561.94 (A 216.24
2. {a) hundredihs, 9 hundredihs 4. {a) 37 kg tb] 59 kg
(b} tenths, & tenths
. 22 yd b) 92 yd
3. (o) 29.03 (b) 62.51 5 fa} 22y ) 92y
6. {a) 57 b) 17 ¢
4. [a} 0.08 b} 0.07
{c) 04 {d 0.1, 001 7. la} 64 km (b) 530 km
5 {a) 5 (b) 36 () 70 8. 35.38 kg
(d} 100 (e} 180
6. fa) 01501 (b)) 1.25 1 Unit 7 The Four Operations of Decimals
7. () 4 (b} 33 o) 2 ' 5
(d) 4 o) L 8% : th) 1.5 (o) 4
(dl 6.3 fe) 87 H 105
8. (a) 0.2 (k) 5.5 {e) 10.4 (g} 36 thy 31.6 {i) 49
{d} 0.25 {e) 075 275 fl 366.1 (k) 286.2 (h 3074
{g) 0.95 th) 4.48 {m) 8.5 In) 4.26 o) 6
(p) 23.24 (gl 5.25 (r} 2.54
9. (a) $2.17 (b} $5.25 {c) $10.80 {s} 242 tf 5914 v} 91.26
{d} $195.65 (v] 46.98 (w) 110.45 (x) 370.06
10.je} 20.70 {b} 368.81 (¢} 1042.64 2 {a) 09 th) 1.8 (¢} 0.8
(d) 21,762.98 (d) 3.6 le} 4.5 i 79
lg) 0.5 (h} 27.2 lil  69.9
3 lij 4.8 ik} 0.23 il 603
1. (a) 0.007 b) 0.0i5 [c) 0.023 3. (o) $9.55 {b) 5cmtaller () 57.15 kg
{d} 0.107 e} 0.135 (H  2.003 (d)  $35.50 (e} 76.65km () 11.3m
{g) 9.005 (h) 30.018
) thousandths, 8 thousandths EXEr(] .
(b} thousandths, 3 thousandths 1. (o) 63 b 4.2 () 0.36

3. {a} 0.002 (b) 0.006 (¢} 0.007 (d] 0.42
o) 7 by 39 (¢} 1000 2. {a) 20.1 (b) 1854 (c) 103
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2.

(a)
(d)

. {a)

{d)

(ol
(d)

. {a)
(d)
{g)
(it

. o}

{d}

(ar)
(c)

(@)
(d)
{a)
{a)

(a)
(d)

(a)

{c)

$1.80 {(b) $1.40
$17.40
$1.65 (b} 3%

$36.45 (e} $61.20

$13.95 {b) $3.85
$76.75 (e} $27.65

0.17 k) 0.12
0.18 e} 0.35
2.1 thY 122
8.6

2.52 (b) 1.69
7.58

0.75 b} 1.46
8.5

3.1 (b} 58
6.8 (e) 8.1
4.3 (h) 30.8
$0.45 {b] $2.20
$0.45 (b} $0.25

234yd (o) 2.1¢

{c)

(e}
)

(c}
(F
{i)

fc)

[c)

<)
{f)
(c)

{c)
(h

. $6.50

$25.90
5§92

$13.75

Ao

ho o
o

$2.05

$17.25
$5.85

Unit 8 Congruent and Symmetric Figures

AB {b) CD corresponds to RS.

{more than one answer)

Yes

{more than cne answer)

(b} Yes {c] Yes (d}  Yes
il Neo (g} Yes {h} Yes

(b) (c)




Unit 9 Coordinate Graphs and Changes
in Quantities

1. (o} 1550 (b) 2300 ¢} 250
{d}  $5330
1. (o) (4, &) (b) (7, 4) el (3,2 2. $2240
{d] (10, 8) (e} {2, 8) (h (1, 1)
2, [¢) 3 b} 4 fe] 5 3. (a) $1350 b)  $5400
(df 4 {e) 8

1. [a} 3 | i) 4 {c) 7 1. [a)  Sunday (b} 10 hot dogs

g8 |1o] 2 () $60 tb) $200 ¢ 8

Unit 17 Measures and Volume

i t. () 8 kg 300 g b} 181610 oz
Jotal costin (c) 15kg 800¢ (d) 29 gat 2 gt
2. {a) 49 ft 4 in. b} 3& min 7 s
le) 13 gdl 3 gt (d 41b10 oz
L fel 4 h 8
O 2 4 & g 1
Numberofcakeso 3. {a) 25kgor 2% kg (b} 3£ 850 mi
3. (o} 7.5kg b) 4
. . 1. (a) 39 km 200 m (b) 55 yd
Unit 10 Date Analysis and Probability e} 1024 (d) 33 h 18 min
: 2. {a} $364 (b) 1312 m () 79kg50g
o (d) 19 gal fe) 1Thdmn (i oFk
:]2. {ag 3 b} 4 e} 30 g 6m90cm
o

i.

{¢) 2mi2Zem (b] 281 in. ¢ 3
(d) 4 years 3 mths

L [
1] 1 2 3
Number of chitdren In o family

2 () Tm8em (b) $11,232 {c] 6154
b 12 days (e} 5£500ml () 3gal2q

(b)

length = 3 em, Width = 3 cm, Height = 2 e¢m,
Volume = 18 ¢m?

Murmbar that Mumker that
appors on die apgzass on dle

P, ot e {b) Length = 4 cm, Widsh = 3 cm, Height = 2 ¢m,
Volume = 24 cm?

2. (o) 40 em® {b) 210 em? {e] 270 cm?®
(d) 200 m? (e} 96 me

@IIZOGBMarshailCa'vendish lnternational(Siﬁgabore)i‘?ihafeleii'ed:__ s
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